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Isosceles Triangle Theorem

Theorem: If two sides of a triangle are congruent, then
the angles opposite them are congruent.

A 7

If: AB=AC
then: <B=<C
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Converse of the
Isosceles Triangle Theorem

Theorem: If two angles of a triangle are congruent,
then sides opposite them are congruent.

A

If: AB=AC

then: <B=<C
L



Example: Solve for x.
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Example: Solve for angle measures 1, 2, 3 and
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Vocab Review (You already have these in your notes from Day 1 of last unit.)

* Angle bisector — ray that divides an angle into two congruent angles

* Perpendicular bisector — line that is perpendicular to a segment at its
midpoint
* Note: Does not necessarily start at or pass through the vertex of a figure.



Example #4: BD is the perpendicular bisector of AC. Find AC.
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Given: PR bisects < QPR and < QRS
Prove PQ = PS S
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